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Détails du Calcul de |la Pénalité

Identité Tps P.Insc P.Retenu P.Cse Diff P.Final Progres

=
1| 2|BEBON ADRIEN M| ui2 | 2822 20.86
2| 1|BEBONALICE Fluw| 2081 3538 12.50 - 25.52
3|  3|BONNET MAYLIS Fluwa| 3273 4008| 4008] 2108 34.10
4| 6]JOVANOVIC ANTHONY M| ui2 | 3633] 7148 31.64 44.66
5| 7|GACHET MAELIO M| uia | 4059] 67.12 44.14 57.16
6| 4|PIRES MAELYS Fluwe | 4145 67.19 46.67 59.69
7| s|coTTIER CYLAS M| uie | 46.82 63.5 635| 6244 75.46 EERS

| M1 (3/10/20) : Moyenne des Différences | 13.02|

| Pénalité de I'Epreuve : 13.02 |
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